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1. Introduction

CT1#87 discussed on whether the TWAG UDP port number for WLCP should be dynamic or static allocated by IANA. Some companies in CT1#87 were an opinion that there are no strong enough justifications to allocate static port number for TWAG UDP but dynamic port allocation should be used, while some others had different opinion.

C1-142839 discussed and gave justifications for using an assigned User Port.

2. The Application Form
	Resources required
	Port number and service name

	Transport Protocols
	UDP

	Service Code
	

	Service Name
	wlcp

	Desired Port Number
	

	Description
	Wireless LAN Control plane Protocol (WLCP) is a 3GPP control protocol. It is used for trusted WLAN access to the Evolved Packet Core. It enables the management of the PDN (Packet Data Network) connections between the User Equipment (terminal) and the Trusted WLAN Access Gateway (TWAG).
WLCP uses UDP as a transport protocol.

	Reference
	3GPP TS 24.244 , 3GPP TS 23.402, 3GPP TS 24.302

	Defined TXT keys
	

	If broadcast/multicast is used, how and what for?
	Not used.

	If UDP is requested, please explain how traffic is limited, and whether the protocol reacts to congestion.
	No congestion

	If UDP is requested, please indicate whether the service is solely for the discovery of hosts supporting this protocol.
	?

	Please explain how your protocol supports versioning.
	No versioning

	If your request is for more than one transport, please explain in detail how the protocol differs over each transport.
	NA

	Please describe how your protocol supports security. Note that presently there is no IETF consensus on when it is appropriate to use a second port for an insecure version of a protocol.
	

	Please explain why a unique port assignment is necessary as opposed to a port in range (49152-65535) or existing port.
	· An assigned User Port would make network management easier. It is possible that several firewalls will be traversed during the signalling exchange between the terminal and the TWAG. The firewalls of the network operator are configured in order to block traffic destined to port numbers that are not explicitly allowed using a firewall rule. If a dynamic ephemeral port is used, the signalling traffic between the terminal and the TWAG could be blocked unless the operator uses firewalls with Application Layer Gateway (ALG) capabilities. And even if ALGs are used if the traffic is ciphered the firewall will not be able to “learn” the used dynamic port and open it.

· An assigned User Port would make roaming agreements between network operators easier. If a dynamic port is used, each operator will need to give the port number used by its TWAG, then the home operator needs to configure in its AAA sever the list of port numbers (in addition to the IP addresses) of the TWAGs of its roaming partners.

· As a general principle, 3GPP protocols use assigned User Ports, e.g. GTP-C uses UDP port number 2123, GTP-U uses UDP port number 2152, S1AP uses SCTP port number 36412, X2AP uses SCTP port number 36422. IKEv2 is an example of an IETF protocol between the terminal and a gateway that uses a well-known port number.

· An assigned UDP port number would simplify both the UE and TWAG implementation. For example, on the UE side, UDP port number management between the cellular modem, the application processor and the Wi-Fi modem would be simplified if the UDP port for WLCP could be set aside a-priori.



	Please explain the state of development of your protocol.
	Protocol Standard definition. No implementation exists yet.

	If SCTP is requested, is there an existing TCP and/or UDP service name or port number assignment? If yes, provide the existing service name and port number.
	NA

	What specific SCTP capability is used by the application such that a user who has the choice of both TCP (and/or UDP) and SCTP ports for this application would choose SCTP? See RFC 4960 section 7.1.
	NA

	Please provide any other information that would be helpful in understanding how this protocol differs from existing assigned services
	


